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| h
95, I
t volume of given
cone of grea% '
* nhis equalto:
glant height Zg, the ‘equal b
m
2
1) —-J-g" m
2
—— m
2) ie:
3) J34J2 m
4) 242 m
=
\Q
96.

g the height of a right circulas ,
1

i 1z +¢f 52 |z — 1|, where
Z /X \IY, x,%ﬂ. then the locus
described by the point z in the
Argand plane isa:

1) Straight hine

2) Circle

3) Parabola
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1] I+??+TE'=D
2) x+2y+z=1
3) x+y+z=0

4) x+y-z=14 ‘
06\
O

98. A delagaﬁn::é@;;e students is g
be fo é& m a group of JTEI‘
I

f three particular

stude

stu é@ want to remain tnge il
whereas two particular stude ts

do not want to remain together,

then the number of selection is :
1) 10
2) 20
3) 30
4) 35
ce For Rough Work
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el b

f(x) _
lod, X dx =- -+C,
e 99. If jm (1+1oge x)
] then f(x) =
o
1) X QO
) « ¢
9) 2 L S
e
JJEII‘J log, X dx =
100- Lo log, x +log, (110 —.\x}
1) 90
2) 0
3) 45
4) 110
WO
IR 101. Atexof the Yegion bounded by the
curves ) -IEE y=Xx+2 and the x-
axisis: m
4/
) 73
g
2) /3
5
3) 9,
5
4) /&
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102.

103.

104.

The sum of all numben
formed with the dlgu;
taken all at a time, is equal g,
1) 93324 2) 9338
3) 92324 4) 92338

If the trivial solution ig he .
solution of the system of equag,

X—ky+z=0 106.
kx+3y—-kz=0 ’\\
3x+y—-z=0 1
Then, the set of all values of kis
1) {2,%3}
2R (2, -3) o
.
3) "R-{2, 3) 101
4) {2, 3}

1
The expansion [x +(x° ~1)40
l

[-"*"—l.'-ﬁt'a-l)a}S 1s a polynomial
degree -

) 8§ 2) 6
3) 1 4) 8
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1) Increaseson R

| 2) BBGI'E&BEE@&

3) Incre [

4) reaaeain (

| 107, Let a=2i+j+k, 1
. c=2i- 3}+4k A ve
d rxb =cxb and r ]ﬁ

1) -B;+é5+;ﬂf
2) -2i +}‘+a
3) -2i-j+5k
4) 1-5]+3k

e

%ﬂﬁﬁfﬂwm : ;,~; rk
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g | 108. If f(x) and g(x) are two fungig
_) [ from R to R such that (fog)(y .
S o -2 + 2)%ahen (1) 9151
1) 8 <
["-..
2) 16 O
6]
3) 12
4) 24
3 109. The value of 'a' such that the Sum
a4 of the squares of (the roots
the equation x° s(@=2)x-a-1=0
assumes least value, is :
!
1) 0 )
N
2) -1 <
["-...
3)2 Xo!
M
2 300 |
5?]; 110. Tﬁe!va.}?ue of ‘'a’ for which x* + ax +
) = 0 has at least one solution, is:
D Ven 2 -2+n
3) ‘2*-;5 4 _X
:/S 2
Pace F?r Rough Work
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1:1 lﬁ;ﬁﬁ'ﬂﬂﬂfﬁl& - t"‘} e
ﬁfﬂmm *'““' JH F..l e '

EIPW“““[’H% s

|
1y 12532 '
2) 1:32
3) ‘32:12

4) 32:1

1'12. If a fum:tt

R E Y .
4) x(ili] I
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3) Fixed radius 1 and variz oles|
centres along x-axis.

4) Fixed radius 1 and variable

centres along y-axis.
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I[ | Eﬂ’ﬂiﬂn veciors of
'W Wil ':::ﬂni.ﬁ. Bancglc:ag A
raapacnvely =)= — 3k
and ~ 81 +21-+3k qrhaﬂ 1,q
the bisector AD of £ Bmﬁ here D

= T
_lll."'\-:il'|I I _|.

is on the line segment BC, i -ﬁ

15
Iy =

J11

D

116. '(inail password must contain
characters. The passw;a:&
to contain one numeral Emmﬂﬁ &.r'
one upper case and one ltmﬂ!*
character from the English alp " be 5
How many distinct passwor .f ““
possible ? L |
1) 6760 2) 135395’ "'

3) 40560 4) 108486
& / Space For Rough Work
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f(x)
=)

117. A curve 8= f(x) passes throym

118. The area enclosed between the

y=lx=4,y=4is.

2) %
3) 16/3
4) 1%

i -

the point®(1, 1). The w
the normak.at P(1, 1) to the cury
y = f(x) is%-* D+ @—-1) =0ang
the slope of the tangent at a‘ti
point on the curve is proportiony
to the ordinate of the point, they
the equation of the curve is ; |
1) #+y°=1

2) y=x_

3 (-1 )&‘: x—1)
4) y= e'r“_f

O
m

curves y° =4x and x2 4y ine
the square formed by the lines x = 1,
|

1) 1/1/3

'/ Space For Rough W@Tﬁ S




120.

121.

thenP =
n g)- ==
1) 3 2
n &y —=
g ) 7
1
.[}é cnsxlﬂgez( -= \d“' -
_}& \1-x
1) 4
2) 0 ¥t
3) 2 l“‘? d
4) =@

Four) statements are given below

regarding elements and subsets of

the set {1, 2, {1, 2, 3}}. Only one of

them is correct. Which oneisit?

1) {1,2)e{1, 2, {1, 2, 3}}

2) {1, 2) is proper subset of
{1, 2, {1, 2, 3}}

3) {1, 2, 3) is proper subset of
{1.2,{1, 2,3}}

4) 3¢e({1,2{1,2,3}

- e o
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122. Three fgr cubic

123,

3] dice are thrown

imult Nausl}f The prnbahzht? |
simultane ;

same
that a]iaree dice have the
md

number of dots on the faces showing

up is :

0

2) —

gy =

) —«

If -51iS a root of the quadratic
equation 2x°+ px —-15=0 and the
quadratic equation p(x* 4 x)+k=0
has equal roots, then the value of k
1S :

1) 7

2) 4

3)%
4)%

£
f Space For Rough Work
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gsit-i?E inte gEIE

be P
andX |
124 Let & 7 bfs an integer. If a,-b.and
t=— b
such S b ometric progression
c areé m | etic mearlﬂfa. b,ﬂ'
and the 5 o then the value of
e b -+ '
fi_"j,.ﬁ__l_i 1S
a+l
2) 4
1) 6
4) 3
3) 1
125. lfthe syste%of equations
2x .}3‘}? =70\
o
(p+g)x (Br<q)y = ol
e _
has infinitely;many solutions, then:
1) pl=8, g=1
2) p=1,g=5
3:] = 2. q= ¥
4) p=0,q=38
1286,

If x=%28 and y-3%27, then the
ValuEﬂfx+y— 1 o 15
X“+xy+y

|
) 2 :)2)5

. T |

3) 5 O 4) 1



t80°

B

121.

128.

129,

The

thmetic pPXo K
aﬁn of its 10th term 1o its 3g

term is 1 : 3. The thirteenth termg
the arithmetic prngressmn ig:

rati

1) 62
2) 26
3) 28
4) 82

The relation R defified in A = {1, 2,3
by aRb, if |a-@b°| < 5, which ;
the fnllnmring 1S not true ?
) REWLD), @2 2), 3, 3), @ 1

fI 2), (2, 3), (3, 2)}

2 R

3) Domain of R = {1.2,:3}
4) Range of R = {5)

The
8in 55°

=L I_ﬂﬂtl Cﬂ-tz cﬂtS_

Cos 35°
1S :

1) ~]
3) 0

gum of first six terms of

gression is 42 by

=R

value

a) 1

&/ Space For Rough wWn.s
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4) not defined



| 1L

1) BC=2PQ
2) BC =3PQ
3) BC=4 .
e S

4) BC =5ﬁ3- OO
@0

el
| - —
TIOITELL
bl

Bx* '&g 17x° +21x+?

annnthe: polynomial 3,5

the remainder comes out io be

ax +b,thena®+b*=

1) 3 '
2) 8
3) 9

- 4} 1 -
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132.

133.

134,

" surface area of the cuboid is ;

e sum of length,
;:Eth of a cuboid is 19 cm g
Ienf;'th of its diagonal 1s 11 cm, T

2) 240 cm?

2
0 em
s 140 cm?

3) 360cm’ 4)

From the top of a building.a{}
high the angles of depression of|
the top and the bottom of a tnw-
are observed to beé 80° and 60°,
The height of thefower is :

1) 40m 2) 80m
3) 60m 4) 20 m

Suppose a girl throws a die, If she
gets S'or 6, she losses a coin three
tiies and notes the number of

heads. If ghe gets 1, 2, 3, or 4, she
tosses g Col

What is the Probability, that she
threw | 2,3, 0r4 With the dje ?
l #
2 }64 &) 3
) Y 4) 8




135 A ﬁg]d in the s

10 m. The n.”,r, N
14 m and I3 m. Tl'la
field 1s :
1) 84m’
2) 100 mﬁ
ey
3) 196 mar;
4) 1l2am’; (Q
136. For any two S)mﬁ AT _.:

defined as. L(Q‘set of all el
A\
that be to either S m:'lh

boththat is, SﬁT-{&JT]* 11|.

. B and C be sets sueh thal
AnBn cr= { }, and the num *’
elements mleach afm
CAA Equals- 100. 'nmnma*‘
of Elemenm AuBuCequ

1) 150
2) 300
3) 230
4) 210

e ™ . . P & BER - b
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137. A right circular cone is of hej
8.4 cm and the radius of its bag x|

a sphere. The radius of the sy ':
1) 2.83cm 2) 2.5cm
3) 2.1 cm 4) z"r cmf

|

138. If f and g are two funq::,::i,;m-,--JI
defined as f(x) = x(+ 2, x < .
g(®) =3, x> 0, then'the domain o

f+gis:
1) {0} 2) [0, =)
3) (—=0, %) 4) (=, 0)

Parallelogram jg .
1) 10 em




Sl WEEN-N B W ! \J

o L
140. A traintravelsadi dis “ 20
 atauniform ﬂP&ed-fmé’
' Mng.mZhlem. thﬂill; 25...*.ifinifi-‘:-=.'-.-.'

distance. Formulate the quadsas
| _ N At T '—.1-';- 1(
Equﬂtlﬂn in terms of ﬂ'[a‘ SRAEA ~f

a@z-ﬁ-ax—-lzsn 0. 8
'3 'JEI- ‘H;:.

141, 1t 3%(x+ip)=| S+ 230 and
( ) 2 31 ar

x=ky, thenkis:




- \l,'*
100 student: s

ere are ;

i gan examination, 50 attm‘.’lemar f
them failed in maﬂiemanc.;s
failed in physics and 4{'{ failed :__
statistics, and 32 failed in exactly

two of theagthree subjects. Orﬁh
one studenfc@assed in all the 1:11:@,5.E

subjects. The number .nf stl‘.ldentgl
failing all thgthree subjects is :
1) 12

2) 4

3) 2

4) 5

143. If the! med.laé} A and mode B of the
following dibtnbutmn satisfy tha»'
relation T{BQL A) = 6Q, then th&'

value of Q 0
O.LEF__%ﬁ 1

Class 0-30 | 30.80 60-90 | 90-120
Interyal .
______________________‘________‘______—_—_ b
Fr

EqQuency 4 I 5 _____'I 4

'°e For Roygh Work -




Letf: (4, 6) (6, 8) be a functig,

deﬁned by f(x)= x+[2]
[] denotes the greatest integer

144.

funct:iun. then () is:
1) x-[—;'] 2) —=x-2
3) x—2 4) -
“[_ﬂ:
2

145. The mean deviation @9 dqlnl
2, 9. 9, 3, 6,9, 4fro mEE]I-iS-:H-
1) O @902.5?' '
3) 157 . ) 3.517 :
N\ '
146. An exterior angle of a triangle 1&; 1

108° ,and its interior uppm
angles-are in the ratio 4 : 5. The

angles of the triangle are
1) 48°,60° 72° 2) 50°,60°10°
3) 52°,86°, 72° 4) 42°, 60°, zeﬂ

147, The range of the

. 3 N
f(x)= SR , where [.] %
o |

greatest integer function, is:
b [0, 1] 2 O
9 1,1 9 0.1
ace For Rough Work -
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T &
4

PQ

g P
3T

<~ &

of
148. If sum of all terms

149,

150.

.w

darn i

g-engg: progression is [E] -iji'
SUE of its odd terms,
::}Tmn§aﬁﬂ is : .
2y —
A ) H
y % . Y Y
PQ is a chord of length 8 cm of ;

circle of yadius §.cm. The tangenis
at P anq of fHe circle intersect

a point T The length of TP is -
R Eﬂ 2) < cm
D 2 :
S 20
3) —c 4) — em
) 3 cm ) =

Medians of A ARC i:ntersect at
area of A ABC — 27 em®
of ABGC =

1) Ehzm2
3) 12 eaﬁ

, then are

2) 6 cm?

N\‘Hla cm”
! Space For Rough Work






